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Matching the verb and the subject - answers

The correct verb-subject agreement is given in bold below. For example:

This car (need) fixing.
Correct answer: needs.

| (need) a rest. need needs
She (need) a holiday. need needs
They (need) to go home. need needs
Asif (need) to read more. need needs
| (have) to see the doctor. have has
Ann (have) a bad back. have has
We (like) to watch TV. like likes
He (like) to play football. like likes
You (need) to look harder. need needs
Sara (want) more time. want wants
He (say) he wants to move out. say says
Jane and Bill (make) sofas and chairs. make makes
She (wish) she was on holiday. wish wishes
The car (need) a wash. need needs
| (want) to learn French. want wants
They (say) they’re going tomorrow. say says
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